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1. Using the convolution theorem solves the equation (15%)
t ] t o,
J‘Oy(x)dx = e* sinh ¢ + e’IOe y(x) dx
2. Solve the initial problem of non-homogeneous ODE  (20%)
y' —y —2y=3e*+6e**+2; y(0)= 1,y'(0) =2
3. Using Laplace transform solves the wave equation (20%)
52 _Otu
o o

4. Suppose that there is S(u,v) = (W + )i+ (v? - 1)j+ 2v?> —u?) k,where 0<u<2 and 0<v<1.
Meanwhile, the velocity of wateris F(x,y,z) = (x — 1)i+ (x +y) j + (y + 1) k. Determine the amount
of water flows through this surface S. (15%)

=u(x,0)=u(x, 0)=0x€[0,0), acR

5. Use the concept of the Fourier series of the function as follows: (15%)
fl)=x* (—m<x<mn); f(x)=f(x+2m)
To find the answer of Y5_, ;11; =7

6. Find fc (z® =5z +3)dz (15%)
where C: {t+L(——sm ) t=0- l} [<0




